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Note :Answer any two questions from Section .1 

and any five questions from Section B. 

Section—A 

Note : Answer any two questions from this Section. 

2x2(1=4 

1. A logit model is given through the equation : 

Pt = F (Z)= F (a + 13;) 

617 (B-28) P. T. 0 
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How would you estimate the model ? Explain if 

the model has linear parameters and whether 

ordinary least squares can be applied for its 

estimation. 

2. (a) Explain, what heteroscedasticity is and 

why it is a problem. Outline two general 

tests that could be used to detect 

heteroscedasticity. 

(b) Show how you would use the Generalised 

Least Square (GLS) approach to deal with 

heteroscedasticity. 

3. Consider the following simultaneous equations 

model : 

Y1 = a13Y3 + 1312x2 + U1 

y2 = CC21Y1 + a23Y3 + 1321X1 + 1322x2 + U2 

Y3 = (132Y2 + I3  33X3 + us 

Check the identification status of each of the 

equations in the model on the basis of order and 

route conditions. Explain, how the first 

equation in the model can be estimated. 
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4. Suppose that the true model in deviation form 

is yi  = 	+ Si. Var (ci ) = a2 . 

Suppose the observed value of the independent 

variable is xi*  instead of xi , such that 

xi = xi  + Vi . Assume that the measurement 

error in x is normally distributed with zero 

mean, has no serial correlation and is 

uncorrelated with Ei : 

(a) Find out the composite error term. Show 

that it is correlated with the explanatory 

variable. 

(b) Is an unbiased estimator of 13 ? Prove. 

Section—B 

Note : Answer any five questions from this Section. 

5x12=60 

5. When and why is the Chow test used ? Outline 

the procedure for carrying out the test. 

6. Write a short note on the method of principal 

component analysis. 

P. T. O. 
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7. Explain the Koyck approach to distributed lag 

models. 

8. Consider the regression model : 

= +13; + si  

Obtain the maximum likelihood estimator for a, 

13 and 02 , where a2  is the variance of x i  . 

9. What is Indirect Least Squares method ? 

Explain the steps followed in estimation of this 

method. 

10. Consider the multiple regression model. 

Explain step by step the jirocedure involved in 

testing the statistical significance of : 

(a) a single regression coefficient 

(b) all partial slope coefficients 

11. How do you detect autocorrelation in 
autoregressive models ? Explain using Durbin h 
test. 

12. What is factor analysis ? How is it different 
from principal component analysis ? Discuss 
the concept of factor loading. 
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